#10M TEFR7—V REER ) ERUE R R 2022/12/9(%)

Q1 (10 =)

dOFD 5 1 DFEFLRI W,

ID: fourier/text01/page01/003

PUT o IR I sEI Y -1 7155 (ZAi) O T [#] Z2&RK a~

(a) (b)
T = 3 [} T =6 [
(c) (d)
T = 12 [f] T =9 [




#10M TEFR7—V REER ) ERUE R R 2022/12/9(%)

Q2 (10 ,Fi“) ID: fourier/text01/page01/019

» 5 IR 7 e JEEORN T = 2 (M) THb 3 5,
f(0)=3. f(1)= -1 DEZE, f(2) IZWVL DI 3 2EIRE a~d DH D

51 DOFENRLZ IV,

() (b)

(c) (d)




#10M TEFR7—V REER ) ERUE R R 2022/12/9(%)

Q3 (10 ,'.5“) ID: fourier/text01/page02/013

T7—Y)ZOEBIIEIOWS EHTH 2 D0FEICHHL TW\Wb U ELE
R a~d OHF 25 1 DERZ XN,

(a) (b)
a4 IVICERER S & WS4 HREMN 2 fFI27 5 L THRILF —
C3 I R AN A
(c) (d)
AR 722513 B 7 B B D EAZAFORMIOE X 1o
YA VEPERRELEOEINT HDEINLKRD NS
HkTw3




#10M TEFR7—V REER ) ERUE R R 2022/12/9(%)

Q4 (10 ,Fﬁ“) ID: fourier/text01/page02/014

TJ—) Ty AIRRICIER L7 5 v ROBIERZEIRE a~d OF» 5
1 DFELRLR W,

(a) (b)
F ¥ —FI ZR

\/
\
-Tl
\

(c) (d)
R EARZAPIT—)L




B 10 [A]

BR 7 — U TR )

2 I RE A A

2022/12/9(%)

Q5 (10 =)

ID: fourier/text01/page03,/001

» % AR 7 Fa 7ES (A T =1 [B) U TOXTEZ 5
NTWBER, BEIRRTD T Z 7 %R a~d OHFD0 56 1 DFKR I W,

f(t)=0+4+1-cos(1-(2m)-t+0)+2-cos(2-(2m)-t+0)

()

(t)
15

05

0

[¢]
-05
-1
-15

-2

0.2 04 0.6 08

1

12 14 16 18

2

t

(b)

(t)

15

1
05
0 t
[¢] 0.2 04 0.6 08 1 12 14 16 18 2
-05
-1

-15

-2

(t)

(d)

(t)

t

[0) 02 04 0.6 08 1 1.2 14 1.6 18 2
-0.5




#10M TEFR7—V REER ) ERUE R R 2022/12/9(%)

Q6 (10 ,Fi“) ID: fourier/text01/page03/019
B 5 SRS AL 7 - 0 (88 (A T — 2 () B FORCEZ 5
NTWBRE, 5 2 RO 7 7 Z2E R a~d oD 5 1 DFEVR
AL

f(t):;+2-Cos<1-(7r)-t-|-72r)_|_3.COS<2.(7T).75_>

(c) (d)

f(t) f(t)

2
1
t . t
0 02 04 06 08 1 12 14 16 18 2 0 02 04 06 08 1 12 14 16 18 2
1
2
3
4

A b K B o B N




B 10 [A]

MER 7 — U TREUER ) 2R AR 2022/12/9(%)

Q7 (10 =)

ID: fourier/text01/page04/019

B % HIAMER R EIR 7 Fa ME5 0 kF HHOEZR 7 — ) ZRE Clk]

LTFoRTEZLNTWAEK, -k HFHOER T —V (R C[-k] %%
R a~d OHFD 5 1 DIFEUKIL X W,

V|

Clk] =8 - elm/4

()

Cl—k] = —8 - U7/4}

(b)

Cl—k] = 8 - b/

(c)

C[—k] =8 - el=77/4

(d)

C[—k] = Z . eli8}




#10M TEFR7—V REER ) ERUE R R 2022/12/9(%)

Q8 (10 ,'.5“) ID: fourier/text01/page04/020

b 5 I AER R 7 Fa 7ER f(t) OBER 7 —V ZREBERIUT
DRATHZOLNTVWARE, BHE7—V R C[0] % FEIRE a~d DH D
51 DOFEUPRIV, BE w [rad/B) ZHARAR KL 5,

F(t) = {3 U/ l-itunt)
-2
+ {3 eI Qlitunt)

() (b)

C[0] = 3 - el /8 C[0] = —2

(c) (d)

C[0] = 0 C[0] = 3 - et m/8}




#10M TEFR7—V REER ) ERUE R R 2022/12/9(%)

Q9 (10 ,'.5“) ID: fourier/text01/page05,/001

» 5 FWMER RTEIE T - a 755 (A T = 4 (M) 2L FTOXXTEZ 5
NTWaBIK, B3R 7—V R C1] Z&ERE a~d O 5 1 DEUR
ISR

f(t):3+2-cos<1-727-t—|—72r)—|—3-cos(2-72T.t_72T>

() (b)

C[1] = 3. el Cll]=1-ebm/2

(c) (d)

C[1] =3 Cl] = 3 ot47/2)




510 [ THEE7— U ZHREUER ]

32 P RE R AU

2022/12/9(%)

Q10 (10 =)

ID: fourier/text01/page05/019

b % FE AR IR 7 - a ES (EARAEBE v, [rad/P)) 2258
R7—VIBREEFE LA, C0] = —2. C[1] = 10 - elim/8}
Cl2] = 1-eUm/4 | ZhDIAE Clk] = 0 2 WS EDRD Sz, TTDE
FOREFIRE a~d OHF S 1 DFEUL LI,

() (b)
ft) = —2 £(t) =10
+ 7/8 - cos(l-wy -t + 10) +1-cos(wy -t +7/4)
+7/4-cos(2-wy-t+1) —2-cos(wy - t+7/2)
(c) (d)
f)==24+11-j5-w; -t f(t)=-2

+20 - cos(1-wy -t +7/8)
+2-cos(2-wy-t+m/4)




